50, will be treated as malpractice.

, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers
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Second Semester B.E. Degree Examinz:&
Engineering Mathen! A

Max. Marks: 80
Note: Answer any FIVE full questions, chdg é;ipg ONE full question g{ % each module.

t\:ﬁ'

dy’ n ¢
Solve a-;z— -4y = 2 nverse differential operators method. (06 Marks)
Solve (D* - 1)y 3Cos2x b »«%%rse differential operators.p ethod. (05 Marks)
Solve (D? + a%) y = Sec (ax) béj{g}he method of varla:ggn of parameters. (05 Marks)
ur«‘%ﬁ% - & :
N or &7
Solve (D> - 2D + 2) = ¢ Sin R by inverse diffgrential operator method. (06 Marks)

Solve (D3 +D? %4@% 4)y= X —4x—6 b verse differential operator method. (05 Marks)
Solve y" 2y #—3y1

x? —Cosx by the méthad of undetermined coefficients. (05 Marks)

gij:% (06 Marks)

P
% 4 (05 Marks)

o

%yj%educing into C%u%ut s form taking the
: @ (05 Marks)

(06 Marks)

(05 Marks)
(05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

a. Obtam partlal d1f§@reﬁ11al equation of
f (X + 2yZ %‘2&/{) 0. (06 Marks)

0’z “‘i’? 0z
b. Solve = a 27 given that when x =0, z =0 and = =asiny. (05 Marks)

1 of2




7

8 a. Evaluatej

9

10

a.
b.

C.

C.

a.

¢ S6lve y"(t)+4y’(t)%§4§

a.
b.

C.

1SMAT21

Find the solution of one dimensional heat equation ”@1\ C : (05 Marks)

1 1-x 1-x-y
Evaluate J- j I g dy a (06 Marks)
A (1+x+y+z)
Evaluate integral I ny dy dx by~ (05 Marks)
Obtain the relation betweené’fg%?g and Gamma function insthe form B(m,n) = mn
Y £ m+n
(05 Marks)
O 3
) dxdy by changing 1n€ (06 Marks)

ion Bounded by the lines x =0, x=1, y =0, y = 2 then

(05 Marks)
(05 Marks)
(06 Marks)
if 0<t<a
if a<t<2a
(05 Marks)

4

[ ¢
(t) = e' with y(0) =
&

& OR

y'(0) = 0. Using Laplace transform. (05 Marks)

(06 Marks)

Find L“[

Find L"[ égﬁmg convolution theorem. (05 Marks)

(s—l)(s +4{

Y4
Express the follé"’wmg function interms of Heaviside unit step function and hence its

Ca¥ s <
Laplace transf’s’cg% f(t)= PN = (05 Marks)
4t, t>2
&
% %k 3k k Xk

20f2




